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2.1.1. Business growth
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The two types of inorganic growth:
1
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Explain a takeover here:
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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The two types of finance for growth:
1
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	Retained profits
	











	Sale of assets
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	Loan capital
	











	Share capital
	












	Float on stock market
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Becoming a plc

Advantages
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Evaluate whether Sainsbury's islikely to benefit from its takeover of Home Retail
Group. You should use the information provided as well as your knowledge of
business.
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Define the term ‘takeover
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Which one of the following is an internal source of finance?

Select one answer.

O A Share capital
O B Loan capital
O C Salesrevenue
O D Selling assets
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Inorganic growth - merging

Advantages Disadvantages





